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2.1: Stem-and Leaf Graphs (Stemplots), Line Graphs, and
Bar Graphs

Use the following information to answer the next four exercises. The midterm grades on a chemistry
exam, graded on a scale of O to 100, were:

62, 64, 65, 65, 68, 70, 72,72, 74,75, 75, 75, 76,78, 78, 81, 83, 83, 84, 85, 87, 88, 92, 95, 98, 98,
100, 100, 740

27. Do you see any outliers in this data? If so, how would you address the situation?
28. Construct a stemplot for this data, using only the values in the range 0-100.

29. Describe the distribution of exam scores.

2.2: Histograms, Frequency Polygons, and Time Series
Graphs

30. In a class of 35 students, seven students received scores in the 70-79 range. What is the
relative frequency of scores in this range?

Use the following information to answer the next three exercises. You conduct a poll of 30 students
to see how many classes they are taking this term. Your results are:

1;1;1;1

2:2:2:2;2

3;,3,3;,3;,3;,3;,3;3

4,4:4;,4,4,4,4, 4,4

5,555

31. You decide to construct a histogram of this data. What will be the range of your first bar, and
what will be the central point?

32. What will be the widths and central points of the other bars?

33. Which bar in this histogram will be the tallest, and what will be its height?
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34. You get data from the U.S. Census Bureau on the median household income for your city, and
decide to display it graphically. Which is the better choice for this data, a bar graph or a histogram?

35. You collect data on the color of cars driven by students in your statistics class, and want to

display this information graphically. Which is the better choice for this data, a bar graph or a
histogram?

2.5: Measures of the Center of the Data

45. In a marathon, the median finishing time was 3:35:04 (three hours, 35 minutes, and four
seconds). You finished in 3:34:10. Interpret the meaning of the median time, and discuss your time
in relation to it.

Use the following information to answer the next three exercises. The value, in thousands of dollars,
for houses on a block, are: 45; 47; 47.5; 51; 53.5; 125.

46. Calculate the mean for this data.
47. Calculate the median for this data.

48. Which do you think better reflects the average value of the homes on this block?

2.7: Measures of the Spread of the Data

Use the following information to answer the next four exercises. 10; 11; 15; 15; 17; 22

52. Compute the mean and standard deviation for this data; use the sample formula for the standard
deviation.

53. What number is two standard deviations above the mean of this data?
54. Express the number 13.7 in terms of the mean and standard deviation of this data.
55. In a biology class, the scores on the final exam were normally distributed, with a mean of 85, and

a standard deviation of five. Susan got a final exam score of 95. Express her exam result as a z-
score, and interpret its meaning.



Practice Test 1 Solutions
2.1: Stem-and Leaf Graphs (Stemplots), Line Graphs, and Bar Graphs
27. The value 740 is an outlier, because the exams were graded on a scale of 0 to 100, and 740 is

far outside that range. It may be a data entry error, with the actual score being 74, so the professor
should check that exam again to see what the actual score was.

28.
Stem Leaf
6 24558
7 0224555688
8 1334578
9 2588
10 00

29. Most scores on this exam were in the range of 70-89, with a few scoring in the 60-69 range, and
a few in the 90-100 range.

2.2: Histograms, Frequency Polygons, and Time Series Graphs

31. The range will be 0.5-1.5, and the central point will be 1.

32. Range 1.5-2.5, central point 2; range 2.5-3.5, central point 3; range 3.5-4.5, central point 4;
range 4.5-5.5., central point 5.

33. The bar from 3.5 to 4.5, with a central point of 4, will be tallest; its height will be nine, because
there are nine students taking four courses.

34. The histogram is a better choice, because income is a continuous variable.

35. A bar graph is the better choice, because this data is categorical rather than continuous.



2.5: Measures of the Center of the Data

45, Half the runners who finished the marathon ran a time faster than 3:35:04, and half ran a time
slower than 3:35:04. Your time is faster than the median time, so you did better than more than half
of the runners in this race.

46. 61.5, or $61,500

47.49.25 or $49,250

48. The median, because the mean is distorted by the high value of one house.

2.7: Measures of the Spread of the Data

52. Mean: 15

Standard deviation: 4.3
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53. 15 + (2)(4.3) = 23.6

54. 13.7 is one standard deviation below the mean of this data, because 15 -4.3 = 10.7

;=B85 _2)
55. 3

Susan’s z-score was 2.0, meaning she scored two standard deviations above the class mean for the
final exam.
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